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2.5 – Rearranging formulae 
Student name: ____________________________________ Score: _______ 

 

…………………………………. [1] 

 

…………………………………. [1] 

 

t = …………………………………. [3] 

 

x = …………………………………. [3] 

 
r = …………………………………. [3] 

 
x = …………………………………. [3] 

 
x = …………………………………. [2] 

 
t = …………………………………. [2] 

 
x = …………………………………. [3] 

 
…………………………………. [1] 

 
a = …………………………………. [2] 

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 

9. 

𝑝 + 𝑞3  

√𝑥𝑦 

𝑎𝑦 + 2 

√𝑐2 + 𝑑2 

 √2𝐴𝜋  

𝑦(2𝑏 − 3)(𝑎 − 𝑏)  

 √𝑦𝑎3  

𝑣 − 𝑢𝑎  

3𝑏(𝑎 − 𝑏) 

𝑣 − 𝑢𝑡  

2 
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u = …………………………………. [2] 

 
v = …………………………………. [2] 

 
a = …………………………………. [2] 

(a) Use the formula 𝐴 = ℎ2 (𝑥 + 𝑦) to find the value of A when x = 7, y = 13 and h = 6.4.   

A = …………………………………. [2] 

(b) Rearrange the formula to make x the subject. 

x = …………………………………. [3] 
 

 

p = …………………………………. [2] 

 

A = …………………………………. [2] 

 
x = …………………………………. [3] 

 
s = …………………………………. [2] 

 
 

(a) Find the value of v when u = 30 and f = 10.   

v = …………………………………. [2] 

(b) Rearrange the formula to make f the subject. 

f = …………………………………. [3] 
 

10. 

11. 

12. 

13. 

14. 

√𝑣2 − 2𝑎𝑠 

3.5 𝑣 − 𝑢𝑡  

64 

 √1𝑡 

36x 2 – 4y 2  

 √𝐴+ 4𝑦2 36  

15. 𝑢2 − 𝑣22𝑎  

2𝐴ℎ − 𝑦 or 2𝐴 − ℎ𝑦𝑢ℎ

16. 

15 𝑢𝑣𝑢 + 𝑣 
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17. 𝑐𝑥𝑎 − 𝑏𝑦 

18. 2𝐴ℎ − 𝑎 or 2𝐴 − 𝑎ℎℎ  

19. 

 √𝑡3 

48 

20. 2𝑠 − 2𝑢𝑡𝑡2  

21. 𝐴 − 3𝜋𝑟22𝜋𝑟  

22. 2𝑦 − 4 or 2 − 4𝑦𝑦  

23.  −3𝑏5𝑎 − 2𝑏 or 3𝑏2𝑏 − 5𝑎 

24. 2𝑦 − 3 or 2 − 3𝑦𝑦  

12 
25. 

26. 

 √𝐴𝑃3 − 1 

27. [] √𝑦+12  
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        Rearrange the formula to make u the subject. 

 

  u = …………………………………. [1] 

 

 

 

 

 

 

 

 

28.  5𝐴2𝐴 − 3  or −5𝐴3 − 2𝐴 

29. 

3 

  𝑦−𝑐𝑥  

30. 

  g ( 𝑇2𝜋)2
   or 𝑔𝑇24𝜋2 

31. 

  5𝑦−53𝑦−2   or 𝑥 = 5−5𝑦2−3𝑦 

32. 

  𝑦−2𝑦−3 

33. 

𝑣 − 𝑎𝑡 

(a) 

(b) 

–7 

34. 

[] √𝐽−𝑚𝑘2𝑚  or [] √ 𝐽𝑚 − 𝑘2 

35. 

 √2𝑦 

36. 

35 

37. 

 [±]√𝑦2 − 2𝑎2 


